gravitational constant = 6.67 x 107! N m?/ kg 2 solar mass My = 1.99 x 10*° kg

1 light year = 9.46 x 10° m 1 year = 3.16 x 107 seconds

Boltzmann constant = 1.38 x 10723 J/K Coulomb law constant = 8.99 x 10 N m?/C?
h = Planck constant = 6.63 x 107** J s ho=h/2n e =1.60 x 107! Coulomh

o = Stefan-Boltzmann constant = 5.67 x 107*W/(m?* K*)

Wien displacement law constant = 0.290 ecm K Ny = 6.022 x 10%® mole™!

mass of electron = 9.11 x 107%! kg

mass of neutron = 1.6749 x 107% kg mass of proton = 1.6726 x 107%7 kg

1 eV =1.60 x 107*° Joule 1 MeV =10° eV ¢ = speed of light = 3.00 x 10®* m/s

lnom=10""m 1 A=10"1°m 1 fermi = 1075 A



